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BES-012 : TEACHING OF MATHEMATICS 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : 	(i) All questions are compulsory. 
(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words. 
'Proofs are necessary for establishing 
mathematical facts'. Discuss the statement with 
examples from primary class mathematics. 

OR 
What are the characteristics of constructivist 
classrooms ? How will you teach the concept of 
'Symmetry' with constructivist approach ? 

2. Answer the following question in about 
600 words. 
As an elementary teacher how will you introduce 
concept of 'data' to your students ? Explain with 
examples. 

OR 
A 6th standard student is trying to solve the 
equation 4z +3= 6 + 2z. Explain the mathematical 
processes that he may use to solve it. 
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3. 	Answer any four of the following questions in 
about 150 words each. 
(a) Differentiate between conceptual and 

procedural knowledge of mathematics with 
examples. 

(b) What are the basic principles used in 
designing learning activities in constructivist 
approach ? 

(c) How will you acquaint your students with 
the meaning of the term 'mode' ? 

(d) Explain how 'geoboards' can be used to 
make children understand properties of two 
dimensional shapes. 

(e) Explain the mistakes commited by children 
in solving simple linear equations. 

(f) Explain inductive reasoning with examples. 

	

4. 	Answer the following question in about 
600 words. 
What are patterns and explain how it will help in 
generalization. Discuss the activities that you will 
use in your class to teach your students about 
number patterns and patterns in shapes. 
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